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Why does he say;  — 990w 990w 1991 7982 DRI IIRW 2 727 1KRP INMNR
‘And what if one who is not redeemed with 7758’; let us derive 29w 2w

Overview

"2 states that the word 71983,! teaches us that a 1517 7971 can be redeemed with 79K
(meaning by his relatives), but is not freed after six years. The reason we need this
exclusion is because otherwise we could have made a 1"p. If a HXW°% 7511 who is
not redeemed through 177X (relatives) is wwa XX, so a *121% 1on1 who is redeemed
with 798 should certainly be wwa X3y (therefore the word 79% excludes ww). The
X723 attempts to prove (from this 1"p) that >27 does not utilize the w"1 of 12w 2w .
If »21 utilizes 7°5w 7°>w why does he assume that a X% 1011 is not 79X HRA; we
should utilize the w" of 2w 2w to teach us that a X% 7511 is also 79X HRA1!
Our MoIn discusses which PXw% 72n1 are we discussing; a %Xy 721 or 72 1M1,

= IYND DNI) INIYIY 18 99110 NIPY 21999
The explanation of the s'R 3 question 7°5W oW 7271 is that a HRW MIY 50
should be redeemed with 119X (relatives) —

mooIn asks:
= 999V 929V 122995 XY ) 93 9NN ON)

And if you will say; even if we do not utilize 9°>w 2w -
- ©2295 7295 9912310 NN INN) INIYIT 1Y 991 XY 9100

To teach us that a 3y 997 to a RS is ¥R2 Y81 for it is derived from a =911

123 (even if we do not utilize the w"1 to teach this to us) -
= YUNRI 123Y DY 9201 179 PWUN 291 99 0PN Yon

Nevertheless we can derive (that a PXw°% 9971 is 7782 9XA) from the P05 of 21

! This is in the 7105 of (73,72 [772] R1P™1) 7282 HR» XY oXY, which is discussing a ?X7w> who is sold as a slave to a >3
(who may be redeemed from the 121 by his relatives)

2 The word 72w is found by »121% 7971 in 33,72 (7712) X1 where it states 121 7w 1owa; it is found by a PR W% 1My oM
in 1,75 772 where it states "3 2wIND 1wd, and by X7 792 3101 in 10,30 (7R1) 2127 where it states oW 7awn 3
oW,

3 mpon prefaces his remarks with w170 to indicate that we are referring here only to a 1%y 1912, but (initially) there
was no thought that we can derive 7"°2 ¥1172% from >7217 7011 as Mmoo will discuss later (see footnote # 9).

4 The o°p108 in 1M-v%,72 [1m2] XpP7 discuss the status of a X W% ey 727, The following (1) P105 begins with 3wn *51
and discusses a *121% 7011, The fact that it begins with a 1" indicates that it is a continuation of the previous nw19 of
5Xw°2 70m1. And the rules of *121% 7211 apply also to a X MYy 10w, [Previously (on 2,7°) the Xna stated that
according to the one who is not 92w 75w 7", he derives that a 2Xw°2 18Y 1277 is 7032 73p3 from a 0"12¥% 7511 through
this "1 2wn *31 that 7WRY PIv 9Y 5201 [1"], the same should apply here (even if °27 is not 3w 2w 7%9°.]
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»wn where the 1'"9 of °21 comes to add on to the first issue -
= 5092999 72I¥Y 9919319 NN YNNI INIYIY 198y 9999 119

So we should derive that a DX 2 112 121 is 77982 ®Xa1 from a 121% =273 through
the 1" of »wn *21. Why does 27 assume that a X" M¥Y 7917 is not 7782 HRA1?!

nBoIN answers:
= 7053995 T2)¥Y 991232 NYYNY 2IND 1INV )27 592 9799991 1IN D TaYT 91217 W

And one can say; that °27 makes the 1''? from 7''°2 ¥1195%, which is not written
prior to a »21% 51,

nvoINn asks:
- ©539)5 72199 191231 177 193 171991 99537 PRYIR PO 5357 9NN ON)

And if you will say; how can it (even) enter our mind that we should derive

7'"92 171727 from v51% on: -
= 9%V 9IVT MY A9

Through the @'t of 255w 995w (to teach us that 7">2 371707 is 79X3 7XA) -
= INYOIN Tay7 DIVN NY0IPOYT 1T %2 119991 22 991D RH20T EN9NIN NN

But the X3 stated previously that it is logical to say regarding a 7''3 ym95n» that
we should punish him since he transgressed a prohibition!'’

N150IN answers:
- U927 NMOIX TayT 33 U¥ 4N Y2953 NSPY 9585 XD 5937 9N2T 119 U

5> moo1n is asking that even if 227 is 22w 2w 779 XY it is still not understood why he maintains that a PXw>% 1%y 75M7
is not 7982 XY, since there is the w7 of "3 »wn *31 (the PWRA Pav Hv 7201 1"). See ‘Thinking it over’ # 1.

¢ mopoin is retracting from his original assumption that the 1"p was from ¥y 1912 (because of the previous difficulty)
and maintains now that the 1"p is from 7"°2 111127, See footnote # 3.

7'7">2 3M70n cannot be derived from »121% 7on1 through »wn 3, since 7"*2 3121 does not precede 1217 7on3 (only
MYy 7311 precedes 1217 1901 [see footnote # 4]). However there is still the w"m of 7°5w 12w (even) by 7"2 171707 (see
footnote # 2). Therefore the X3 correctly proves that 27 is 72w oW 72 X?; otherwise even a 7"*2 17737 should be
77782 %831 through the w" of 10w %W,

8 The X3 previously (on X,10) stated that the P05 of I1NMDWN X 2w (in X172 [772] XP™) is necessary to teach us that
a 7" 177731 goes free on 921 (even if it is during his six years). This 777 is necessary even if we derive oW oW,
for we cannot derive a 7"%2 11110n from MY 101 since a 7" yMOn transgressed (he stole) therefore I would think that
he should be punished and not go free 921°2. The same applies here that even if we maintain 2w 7°5w, we still should
not be able to derive that a 7">2 1717131 be 717X2 PR32 (through 72w 775w), since the 7"°2 ¥117157 should be punished. See
“Thinking it over’ # 2.

9 1t is this question that led '01n initially (see footnote # 3) to assume that we were discussing a ¥y 731, but not a
7'"2 %1101, However mooin proved that we cannot be discussing a %%y 101 (because of the 2wn *27)

107t seems that Mmoo is asking that there is no way to understand the 1"p of >21 and the s'8 3 question of 72w 7771
T5w. We cannot say that the 1"p is from m¥¥ 721 because (according to MooIN) a MY 721 is 7782 981 (even if R
oW 0w 7°9°), on account of »wn *31; and the 1"p cannot be from 7"»2 171101 for then what is the s'R 13 question 7771
"OW 70w, we cannot derive 72 11101 through 7"Ow 2w since XMO°K 72v. How are we to understand the &72?!
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And one can say; that after the 105 (of \nndWnH "X 2WM) revealed to us previously
that a 7"2 y110n goes free on 92, even though he was X119°R 72y, as the Xma

explained previously,'! therefore -
- 12095 197 IND SN NINA INIOY Y39Y Y 993 A N

We could have derived through 29w =W that a 7">2 171157 should be ;7982 B8,
were it not for the P15 of 11%x» which excludes a 9Xw>% 7211 from 77X2 HRA1.

mooIn asks:
= £52999 72199 9912311 NHINA HNIW 999 999V 991Y sya 1591 NN 9NN ON)

And if you will say; but still how did the X773 want to derive through 995w “%w

that a 5872 7511 should be 779X2 9Xa1 from a 791% 9511 who is 79%3 YX3; we cannot

compare the two cases, for -
= 14952595 »72)¥1 122 ¥V XYY 27 NHNL INIW NN 17 D229 7YY 991030 NN

What comparison is there; by a »51% 2521 it is justified that he should be 77983 Y821

in order he should not be assimilated among the gentiles; however by a 5% 7301
where this concern does not exist, he should not be 7982 >xx1!

NID0IN answers:
:N92D 7N MNOY PN 1512105 NN ¥HV ROY NI2D INNT 90919 W

And one can say; that this concept (and concern) of p»w> 85w is not written in the
770, so therefore we cannot dismantle the w"1 based on this logic.

Summary
The (X3 assumed!® that the) 1"p of 27 is from 7">2 171757 (but not from XY 15

who can be derived though »wn °21 that he is 77X2 HX2), for once we know (from
NNOWN PR 2wN) that XMO°R 72V is no hindrance we could have derived 72 %17

1 See footnote # § that 1Nnown YR 2w teaches us that 7">2 3N is 9212 XX even though XMoX 72w (which would
have initially prevented us from deriving 7" 171707 from 71Xy 101).

12/93,75 (7712) Xp states (regarding a >33 7211) that 119R% 1717 12 % 1717 X, from which the X713 shortly excludes; 712
(to a >121% 7211) he is 2°217p2 PR3, but IMR? X9 (not to a FRIW°? 7311 [whether XY 101 or 7"2 y11on)).

13 The 7m"% from 1w 98 2w teaches us that RMOX 72V is no reason to punish the 7"°2 M.

14 Just as we said before that we cannot derive 7"2 311127 through the 9°5w 7°2w w"13 since XMOX 72¥ (unless Xp 17 723
that RM0°R 72V is no hindrance), similarly we should say that 987¢°% 1511 cannot be derived from "33 1011 because
the situations are totally different.

15 The reason of XMO°R 72v (to prevent us deriving 72 3M73» through a w") is written in the 71N, The 70 writes
(in 2,25 [D*wown] Mnw) that 1N2°132 73111, however there is no mention in the 770 of the concern ¥nw’ &nw therefore
the ¥120 cannot negate the w"a (for it is 719m).

16 According to the conclusion (by x> 92 1am1 " [that InX? X1 719 19X that no 29X W2 7011 is 7982 X)) that "2 is
W "W 7°Y, etc. it is possible that the 1"p is both/either from %2y 731 or 7"%2 1M,
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through 7°ow 2w from 0"5v% 101, A w"n can be refuted by something mentioned
in the 770 (like XMO°X 72v) but not merely by a X120 (of ¥»w> X5w) which is not
mentioned in the 77N.

Thinking it over

1. NMooIN maintains that XY 1217 is 7782 PR3 (even if °0w oW 7°7° X?), on account
of »wn »21 (and therefore how can >27 state 7982 7831 1°X).!” Once we assume that we
derive PRW°% 1M¥Y 75 from 1217 1571 (through »wn °7), there is a stronger question
to ask, how can °27 say that YR 7571 is wwa RxY, if we derive %Xy 75 from >
»wn (and not from 75w ow) he is not!'® wwa xx?2!1°

2. mpon argues that just like we do not derive 72 1M1 from XY 121 since the
72 371701 was XT10°K 72y, the same way we cannot derive 72 31191 from 79n2
™31%, since the 7"2 17751 was X110°K 72v.2° However we can distinguish between
the two cases. Granted that we cannot derive 7"°23171701 from 1%V 12172, but regarding
deriving 7"°2 11157 from 1519 7511 we perhaps cannot say that 7"2 %1757 is worse
for XMO°X 72V, since 1212 121 was also XX 72¥ for he is working for 1"'v; therefore
we should be able to derive 7"2 171721 from *731% 1211 since in both cases it is 72Y
RNOR.2!

17 See footnote # 5

18 See 2,7.

19 See X"wAnn and 1w MR 77T OnR N2,
20 See footnote # 8.

21 See ywi7° "19.
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